THE4 T XMESR R TF

TRENEENRE

Z RN B AR SCE

THX Sy« LHE - FlR) - HE5) H & B B B M & #
MR 1-15- (&t 20 1
Rl 4T 2y 1
FEH T 20 1
fEEl (1) TR NBUBE /NSUBE (FEAELISL) n3 22
ReED gﬁﬁ?u TR PR B GE o
RE+T = 1
L (At A (BESR) it PR RE £ m3 68
REL (BEAT) g+ n3 2
T K 1
ey ] ORI EHEE T (B%AK) 10cm, RC-40 m3 8.6
(== 20 1
PRI R N m3 69
HRT ANEIAE D m3 14
B AL T = 1
75 g (E;%ﬁ n(ﬁt%%) 4. 0mPh b TR R 3 o5
ERTELS| = 1
TR (5111 giﬁﬁﬁa&ﬁ MLy, B, 12
WY (1) IELILARD (1000 80, WL 55
HeAAE) L = 1
BIRT 20 1
FERERS B L 0.3m fATyve7v4070 | 3 5.6
N h ST W 7707 R ¢ 1200 t=2. Omm m 10.2
WAL K 1
SEhIE Tt 1000 T2 37
W AR5 kA B 1 HFAL m2 63. 4
SEhIE Tt s 1000 2 8
W HABA LB A 3 1 0L m2 16.6
SEhIE TR A oo 20| g 6
WK — MR TAbIE T m2 12.8




TRENEENRE

THEY4 7THXMWERRTEFE =PRI ARG PR RS
THX Sy« LHE - FlR) - HE5) H & B B B M & #
G L = 1

Pk L L = 1
LS A T ﬁs& 777" 800mmLh L1, 200mmEh 9 9
TR AL T = 1
SRR AL PR k< FIERE, 2tDY T A - 40kmE T | 1

SGan 1-15f&5 T = 1

FEan 20 1
THHER T = 1
BN 22%1524%3048 K 1
BliEfE T 2y 1
SRR AN 2y 1
T 5 +To S #EE T m2 2
KT = 1
BIER ) =5 L AF BT, R30 ¢ 400 m 25

RN 24 2y 1

ESLlG S = 1
S 2 (B L 20Eh) 2y 1

R 20 1
aet 20 1
Feim R # (FEFLD) 2y 1
BUGBRET SR (R L) 2y 1

P 2y 1
Bl E 2y 1

TR 20 1

— R A = 1
— A IR R 20 1

T ATt = 1
THE DR 240 = 1

HALH 2y 1




